Octics:

P?1,1,2,2,2) 3] :

(231,272,.%’3,@'4,%5) ~ (A'rla)\x27 )\25133,)\25134,)\21’5) ~ (—331, —332,333,234,.%'5)

so there is a Zsy action with fixed point set {(0,0, x3, x4, z5)}

M : P =28+ a8+ x5 + a5+ 25 — 202725 — SYx 120037475
G: (r1,7)2,23,24,25) — (" 21,...,a"%x5)
where o = I, a=ni+ns+2n3+2n4+2n5=0 (mod &)

G =73, The mirror is W = m
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piM)=2, h*'(M)=86=83+3

We can define another action of G

(3317 S 73757% ¢) — (anlxla <. 7an5x57¢a—a7 ¢a_4a)

so the natural coordinates are 13, 9¥*¢, ¢°.
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We have the polyhedra A, V.

PPt =pts(A)— Y int(0)+ Y int(0)int(6*) — 5

codimf=1 codimf=2
e CASPAN

PPt =opts(V)— ) int(0*)+ > int(6*)int(d) — 5

codimb*=1 codimb* =2
0*ecvVv 6*ev
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3
3
g x; — 3Yxrix0ws = 0
i=1

Y
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P = c1y} + coyh + c3ys + . .. + Coy1Ya + Cry1y2YsYays

Doll1 1 1 1 1 1 Do =—(Dy + ...+ Dg)
D;|1 8 00 0 0 Do = —4D3 = —4D, = —4D;
D1 0 8 0 0 0 Dy = —8D; — 4Dy

D;|1 0 0 4 0 0 Do = —8Dy — 4Dy

Dil1 0 0 0 4 0 Dy=D,=Ds=H

Ds|1 0 0 0 0 4 Dy =Dy =1L

Ds|1 4 4 0 0 0 D¢ = H — 2L

H°=8, H°L=4, HIL*’=1L1°=0
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Generators of the Mori cone:

h=(-4,0,0,1,1,1,1) 1=(0,1,1,0,0,0, —2)

h-H=1, h-L=0
1.H=0, 1-L=1

C3C4CrxCq —2¢
>\ _= Ch _= _=
& (84)*
M — Cl — —6162 — 1
. (29)7
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P =%+ a5+ a5 + o5 + 25 — 200505 — Sthay ..

For which ¢, v is the manifold singular?
Ceon: (¢ + 812 — 1 = 0, conifold locus: M has nodes.
C1: ¢* =1, M has 4 rather singular points
Co: ¢, — 00, M singular
Co: ¥ = 0, orbitfold ¥ ~ ay)

Cl Ccon

Co
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Counting the number of points:

Y O(yP) =4(P(x))

yeF,

O(yP) = O(—8Yyz12s . .. 75)O(—2¢yziz3)O(yzF)O(yz5) O (yz3)O(yx;) O (yrs)

p—2
O¢) = — > G- Teich(§)"

m=0

allows to evaluate everything in terms of Gauss sums
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Zeta function:

R R'Yv
M2 (T, ) = 1y B

(1=T)1 = pT)*(1 —pT)*(1 — p3T)

where R is a sextic and

1 1
Rl(pS—T) — p9T6R1(T>
Ry
W = - :
WD) TR0 TS0 (ST (0

)p*T)3(1 — p*T)
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